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CIFA PART II SECTION 3

CORPORATE FINANCE
THURSDAY: 26 November 2020. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
(a) @) Explain the term “agency costs” as used in the context of corporate finance. (2 marks)
(i1) Describe two ways in which agency costs relating to the conflict of interest between shareholders and
bondholders may show up as real costs. (4 marks)
(b) An analyst has gathered the following information using the latest financial year’s statements and interviews with
managers of Chuma Limited: : .
Number of units produced and sold 1,000,000 units
Sales price per unit Sh.108
Variable cost per unit Sh.72
Fixed operating costs Sh.22.5 million
Fixed financing expenses Sh.9 million
Required:
Calculate the following for Chuma Limited at a sales volume of 1,000,000 units (ignore taxation):
(1) Degree of operating leverage (DOL). : (2 marks)
(i1) Degree of financial leverage (DFL). (2 marks)
(iii) Degree of total leverage (DTL). (2 marks)
(©) Damiano Okulo is an analyst who is following the market performance of Mali Limited. He believes that Mali Limited

is a likely takeover candidate and plans to estimate its value per share using comparable company analysis and
comparable transaction analysis approaches. He gathers data on two companies which are comparable to Mali
Limited, namely; Alphatech Limited and Betatech Limited. He believes that price-to-earnings, price-to-sales and
price-to-book value per share of these companies should be used to value Mali Limited.

The relevant data for the three companies is provided below:

Valuation variables Alphatech Limited Betatech Limited Mali Limited
Sh. Sh. Sh.
Current market price per share 72.00 45.00 24.00
Earnings per share 2.00 1.50 1.00
Sales per share 32.00 22.50 16.00
Book value per share . 18.00 10.00 8.00

Damiano Okulo also identifies one recent takeover transaction (Mavuno Limited) and analyses its takeover premium.
Mavuno Limited is comparable to the possible transaction on Mali Limited. Mavuno Limited had a share price of

_ Sh.44.40 per share prior to a website report of a takeover rumour. After the takeover rumour was reported, the share
price rose to Sh.60.30 per share. Eventually, the takeover offer was accepted by Mavuno Limited’s shareholders for
Sh.55.00 per share.

Required: :
The best takeover price per share of Mali Limited. (8 marks)
(Total: 20 marks)
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QUESTION TWO

(2)

Ali Limited and Baba Limited are firms operating in the same industry. The firms are similar and idené\).al in all
respects except in their capital structures. Both firms generate annual sales of Sh.800 million. The gro ofit margin
for both firms is 40% with estimated annual operating costs of Sh.70 million for each firm. § .

The capital structures of the firms are as follows:

]

O

Ali Limited Baba Limited

Sh. “million” Sh. “million”
Equity (market value) 1750 1,500
8% debt (trading at par) - 1,000
1,750 2.500

The two companies adopt a 100% payout ratio as their dividend policy. The corporation tax rate is 30%.

Required:
Using the Modigliani and Miller (MM) propositions with corporate taxes:
(1) Determine the equilibrium market value for each firm. (4 marks)
(i1) The weighted average cost of capital (WACC) of each firm. (6 marks)
(iii) Comment on the results obtained in () (i) and (a) (ii) abO\;e. : (2 marks)
(b) Bahari Limited has a target capital structure composed of 70% equity and 30% debt. The schedule of the costs of the
components of capital of the company is provided in the table below:
Amount of new debt | After tax cost of debt Amount of new equity | Cost of equity
Sh.“million” Sh.“million”
0 to 150 3.90% 0 to 300 6.00%
150 to 300 4.40% 300 to 600 7.80%
300 to 450 4.80% 600 to 900 10.00%
Required:
Calculate the break-points and illustrate the marginal cost of capital schedule for Bahari Limited. (8 marks)
(Total 20 marks)
QUESTION THREE
(a) Bidii Limited is evaluating a new project to produce lawn mowers. The initial investment in plant and equipment is
Sh.500 million. Sales of lawn mowers in year 1 are forecasted at Sh.200 million and costs at Sh.100 million. Both are
expected to increase by 10% each year in line with inflation. The corporation tax rate is 30%. Working capital in each
year consists of inventories of raw materials and is forecasted at 20% of sales in the following year.
The project will last for five years and the equipment at the end of this period will have no resale value. For tax
purposes, the equipment can be depreciated on a straight line basis over these five years. The nominal discount rate is
15%.
Required:
Show that the net present value (NPV) of the project is the same whether calculated using real cash flows or nominal
cash flows. (10 marks)
(b) Boma Ltd. has in issue 8 million ordinary shares with an ex-dividend market value of Sh.7.16 per share. A dividend of
q Sh.0.62 per share for 2019 has just been paid. The pattern of recent dividends is as follows:
ﬂ Year 2016 2017 2018 2019
Dividend per share Sh. | 0.551 0.579 0.591 0.62

Boma Ltd. also has in issue 8.5% bonds which are redeemable in five years’ time with a total nominal value of
Sh.5 million. The market value of each Sh.100 bond is Sh.103.42.

Redemption will be at nominal value.

CF32 Page 2
Out of 4




N
®)

0\9
2
&

Boma Ltd. is planning to invest a significant amount of money in a joint venture in a new business are§9 has
identified a proxy company with similar business risk to the joint venture. The proxy company has an eq\@ eta of
1.038 and is financed 75% by equity and 25% by debt on a market value basis. (Q’b'

The current risk-free rate of return is 4% and the average equity risk premium is 5%. The COTpOor, ax rate is 30%
and Boma Ltd. has an equity beta of 1.6.

Required:
(i) The after tax weighted average cost of capital (WACC) for Boma Ltd. using the dividend growth model.
(6 marks)
(i1) A project-specific cost of equity for Boma Ltd. for the planned joint venture. (4 marks)
(Total: 20 marks)
QUESTION FOUR
a Mamba Ltd. is considering an investment in two alternative projects; X and Y. Both investments require an initial cash
q

outlay of Sh.1,800,000. The firm expects to invest in only one of the projects.

Project X has a useful life of 3 years whereas project Y has a useful life of 4 years. Both projects shall not have resale
values at the end of their useful lives.

Given below are the operating cash flows expected from each project for each year:

Year Project X Pfoject Y
Sh.“000” Sh.<000”
1 800 700
2 900 700
3 850 700
4 - 700
Addition information:
1. . Therisk indices for the projects are given as follows:
Project Risk index
X 1.0
Y 12
2 The risk-free rate of return is 8%.
3 The expected return on the market portfolio is 15%.
Required:
1) The risk-adjusted discounting rate for each project. (2 marks)
(ii) Advise on which project the firm should undertake when evaluated using the equivalent annuity approach.
(6 marks)
(b) The new credit manager of Mali Mali Enterprises plans to liberalise the firm’s credit policy. The firm currently

generates credit sales of Sh.287,500,000 annually. The more lenient policy is expected to produce credit sales of
Sh.375,000,000. The bad debt losses on additional sales are projected to be 10%. An additional collection expenditure
of Sh.7,500,000 will be incurred. The new credit manager anticipates that production and selling costs other than
additional bad debts and collection expenses will remain at 70% of the additional sales.

The firm pays corporate tax at the rate of 30% after deductible expenses.

- Assume 360 days in a year.
i Required:
i) Assuming that the firm maintains a debtors turnover of 15 times, calculate by how much the debtors’ balance
will increase. 4 marks)
(i1) Compute the firm’s incremental return on investment. (4 marks)

(iii) Assuming additional stocks of Sh.17,500,000 are required and additional creditors of Sh.7,500,000 will arise
in order to support the additional sales, compute the after tax return on additional investment. (4 marks)
(Total: 20 marks)
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